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CoObiTna oobektTa TForm

v |:| Form1: TForm1

~|2] Shape1: TShape
~[2] Shape2: TShape
-] Image1: Timage

~~~~~~ % Timer1: TTimer

OnKeyDown FormKeyDown

OnKeyPress FormKeyPress

OnKeyUp

OnMouseDown
OnMouseEnter
OnMousel eave

OnMouseMove



CoObiTna oobektTa TForm

procedure TForml.FormKeyPress (Sender: TObject; wvar Key: char):;
begin
case Key of

'w': imagel.Top := imagel.Top - 2;
's': imagel.Top := imagel.Top + 2;
'a': imagel.Left := imagel.Left - 2;
'd': imagel.Left := imagel.Left + 2;
end;

end;

Ceonctea Cobbitua WzbpanHoe OrpaHuueHus
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CoObiTna oobektTa TForm

implementation
uses LCLType;

procedure TForml.FormKeyDown (Sender: TObject; wvar Key: Word; Shift: TShiftState
) i
begin
case Key of
vk up: shapel.Top := shapel.Top - 5:
vk _down: shapel.Top := shapel.Top + 5;

vk left: shapel.Left := shapel.Left - 5;
vk right: shapel.Left := shapel.Left + 5;
end;

end; BupTtyanbHble Koabl KnaBuLl

VK_SPACE — npobern
VK_LEFT — cTpernka Bneso

VK_UP — cTpernka BBepx
VK_RIGHT — cTpenka BnpaBo
VK_DOWN — cTperka BHU3




| Form1: TForm1

=] Shape1: TShape
‘=] Shape2: TShape
=] Image1: TImage

[MpoekT «JloByLwwKa»

@ Timer1: TTimer




[lpoekT «JloByLwKa»

procedure TForml.FormKeyDown (Sender: TObject; wvar Key:
) ;
begin
case Key of
vk up: shapel.Top := shapel.Top - 5:
vk down: shapel.Top := shapel.Top + 5;
vk left: shapel.Left := shapel.Left - 5;

vk right: shapel.Left := shapel.Left + 5;

end;
end;
procedure TForml.FormCreate (Sender: TObject) ;
begin

randomize;

shape2.Left:=random(400) +40;
shape2.Brush.color:=clblue;
shapel.Brush.color:=clblue;
end;



[MpoekT «JloByLwwKa»

procedure TForml.TimerlTimer (Sender: TObject):
begin
shape2.Top:=shape2.top+random(10) ;
1f (shapel.Left<=shapeZ2.LlLeft) and
(shapel.Left+shapel.Width>=shape2.Left+shape2.Width) and
(shapel.Top<=shapeZ.Top) and
|(shapel.Top+shapel.Height>=shape2.Top+shape2.Height)
then shape2.Brush.color:=clred;
end;




[MpoekT «JloByLwwKa»

IJoaenaTtb NPOEKT:
1. LWapuKk octaHaBnuBaeTcA B
KOP3UHKe
2. HauuHaeT nagaTb HOBbIN LWAPUK
3. CYeT4yuK OYKOB - NTOUMaHHbIE
LLAPUKIN



